EAGRAROBREERT — 2 N— ABISH —F

20211 A9A (£) 13E5H2H

mCZ 4 7R

‘ [Riz] ¥ ‘ [REBE] — | & (&) 1300M 4=

[AE4£] 1 % :600,000 @  23%&:210,000 M  37&:

120,000 B 4 % :90,000 B . 5 & :60,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o : AN 07, -10-10-8 | 40.5 | — BIRFES (SH)
i NEVPEEL - £ 6 56_01_ 1(2_7)4 10-10-10-8 | 40.5 7 <4+810) o ,*mj:Jr;.%ﬁ%
L:Ayizgy—X BE/ R Ta-l B
= #o7 | EBEERI 1:27.7 3324 |41.8| — | 4 | 493 |HEFE= (FH)
2|gl10| EM¥—=72R 56.0 (1 1/2) w5 | (B J P N#E
Zox4o B:IE-xOr wAx &7
ki : ~6-4- - BliEE= (SH0)
3 7 8 7'77/)[/_3(’— *i 10 56.0 1(‘12/72.)8 ot 421 s (4_62(:; ﬁ/IJJ-ETZ
:Wh—> B:T77¥%2-75 Al =E
R S FHITE] . —0—8— = mLBE ()
4lglg| 7w b £210 B (12.218/.23) 9-9-8-6 | 41.9 9 (4_613; 2 1&
R:ixF1zgr—2 B:vKZI— HBTr—L
A 4 5 | FmEER 1:28.4 7-7-5-5 | 42.4| — 2 445 | FTBBE ()
5\7|7| /5%~ 54.0 (172 (o |EAE
R:YZRE—3IZ24— BAHTFv>274 ATAINT 7 — L
& e FEllEGIN :28. —-8-9- . — hEEE (S
5 6Ly KTy 8 & (11 218/27) 8-8-9-10 | 42.2 6 (5+322) i
R:2914T hhHL> b B:FoUH—F HET77—L
S SN 2 9 | HEE—H 1:29.2 2-2-3-7 |43.4| — 10 | 531 |RESHE EH)
7155 KZ7—> 77 5.0 21/2) @1 | R X
o140 B:7-%40Y-— H—L— - JvIN> - Ty7—LERS
N EEEE . 11— _ HAKE ()
8 2 IAaAY I hENY 4 9 e 7 1(72?:1)3 1-1-1-2 | 43.7 5 ?(1);1 ) ;‘/Z"
L:7HIHFLIY Bix—-Y—t [53ztier]
. © ers B 6 | BAMK 1:29.4 4-4-7-9 |43.3| — 8 438 | BEXEH (&)
9|11 |FIVEFE-L 54.0 (3/4) -2) :H:EJ‘I: Em
T4 =TZAh4 B X1 394y FE BHEE {E—
S TN 10 | RN 1:29.5 6-5-6-3 |43.6| — 1 517 | BllliE— (&)
10 4| INTRT Ny E 254.0 (1/2) 3 | (B F>=>7-559F
L/ RS vy T BHAHARYZT HASHU-M - A
® 1 —F—@EBIERL
1T=7r= 2,5,10,1,8,4,7,6,9,3
20—F— 2,5,10,1,4,8,7,6,9,3
Ja=9= 2,10,5,8,7,4,1,9,6,3
40—+ — 8,2,4,10,7,9,5,3,1,6
[ /N
B 3 4,410/ 714K 3-10 2,120 e E 3-8 6,680 JEE 3-8-10 10,130H
B B 3 460 3-8 1,280H B = 3-10 9,790M 3B 3-10-8 147,240M
10 220M 8-10 470M B H 3-10 33,630M
8 170

ABTICOVWTRHDBTERERRODDE, JTHERLE,




